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B.Com. 4th Semester (Honours) Examination, 2023 (CBCS)
Subject : Indian Economy _
Course : GE-4 (41 CH)
Time: 3 Hours (New Syllabus) Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions: 2x10=20
@ @ G 2vsa T e ¢

(a) Mention any two features of an underdeveloped economy.
e Ao @ @I qio AR S s
(b) What is poverty line?
wiftw @ e
(c) What do you mean by a dual economy?
tas dHife IS @A ?
(d) Define fiscal deficit.
e wfbfen sitwl e |
(e) Mention any two causes of low productivity in Indian agriculture.
SRS FRACS I AT @ @A 76 R Trma [ |
(f) What are the full forms of NABARD and MGNREGA?
NABARD 93t MGNREGA-93 9t 3215 & e
(g) Mention any two important features of India’s new industrial policy introduced in 1991.
1991 7 SRS 2R¥e wgn Femifea wf ewgsyl taf ey Sme =@
(h) What is the minimum support price for farmers?
TR G T RS T e
(1) Mention any two functions of WTO.
WTO-93 @ @it 3o = T 33
(j) Give an argument in favour of privatisation of public sector enterprises.
FHRIR ORI FARIRICR A% 93 L& wis |
(k) What is disguised unemployment?
ofoZR (IITG 7
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(D

(m)

(n)

(o)

What percentage of national income in India now comes from primary sector?
TN SIS T WEA TS A0A AT (FF (U@ WA 2

Distinguish between FDI and FPI.

FDI €38 FPI-93 St ~A1<F 03|

What do you mean by capital account convertibility in Balance of Payment?
@ TYLeR YA o A0S FAGACIS! 00 il B (@i ¢

In which year were economic reform measures undertaken in India?
N IR TRe Ao A wOfoe azd w1 wafee s

2. Answer any four questions: 5x4=20
@ (P BRI At TeR WS

(a)

(b)

(c)

(d)

(e)

6y

What factors did contribute to India's industrial stagnation between the mid-1960s and
the late 1970s?

1960-9% WHTF Fre19l (A0EF 1970-97 W37 (+ia7 e 1w erarea Mo s Afafzfea
T (@ @i Renefin saum awgeyd e

How can India take advantage of the demographic dividend to accelerate economic
growth?

GRS TR Afad R oredd Frena wdiafes asfers gafee sace «z e

What are the importance of small and medium-sized enterprises in Indian economy?

SRR TNITSre Fu @k TR Wi T wwEy B2

In what sense the Human Development Index is superior to the Per Capita Income Index
as a measure of a nation’'s economic development?

@ o @3fo (rar wtafes Taarma sifwet fZAR W Saaw Ao waAfeg w Arraa
G THCE ?

Briefly explain a few recent policy measures of the Reserve Bank of India to control
inflationary issues in India.

TS urted T fRage e fers arEs Arefes g S e arm w@

Briefly explain the causes of poverty in India.
SRS MtEE FRel ACHH [ TR

3. Answer any two questions: 10x2=20
@ @ g Ared Ted me ¢

(a)

Explain briefly how the sectoral composition of India’s national income has changed
since the inception of economic planning. What factors did contribute to the phenomenal
growth of India’s service sector in the post-reform era? 7+3

QYATET ARG oAl (AF SRS GO S CFANS A6 Tt sAf7ad 9B
©f FCFC I FCA | AHR AT ol SRS AR (¥ wgeod Bafers @i
fRansf wavm @afeE 2



(b)

(c)

(d)

(3) CH-IV/GE-4(4-1 CH)/(N&0)/23

To what extent do you believe India’s public distribution system of foodgrains has been
successful in addressing the issue of food security for the nation’s ever-growing population?

SIS TN TR AW I 00 (AR AT 29— GIE TS0
S QAR I O W

Briefly explain the changes in the volume, composition and direction of India’s foreign
trade in the post-reform era.

ST WA ReRIEE 478! o1 Artias Mfrera AR, 9w @3 wfeyred sfFadaef
ALFA SIEAGA I

Explain briefly the effects of the Green Revolution on the Indian economy.

SIdR AT e ReEe geref e R @ |
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L. Answer any ren questions from the tollowing questions: 2x10=20
A wmefir W e @ @@ =T Ao Ter we
1l a b+c
(@) Without expanding prove that {I & c¢+a|=0,
l ¢ a+b

l a b+c

feeas@amsmalfl b c+a=0

1l ¢ a+b

X 59 ; ;
< ] and B = L} R ] then what will be the values of x, v, z and a
=

-
+
LB ]
|

(by If A= [

so that A = B?

X 3 9
] aw B=|:0 . ] T, OIRCE x, v, 2 9K @97 @ WAL ]
2a

; " (1
© If f(x)= & +b . prove that f(x). f [T]= 1.

\ 5 (1
o f.(_‘_):tl\-i-f" oauE T A S (\)f L-—»}:l (
’ by +a X

SRR e
(d) Prove that im \/l +2x - VI3« =

A0 X

La |

[1+2x -V1-=-3x
oA B @ fym A 2x —vl-dx

V=0 F

ta |
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(e) From the first principle of derivative find the derivative of x°.
OIETFTET A G (AN 12-97 TG el I |

(f) If u=—— then show that x.— u +y , u —=0.
x ox 6‘)‘
ﬂﬁu_hﬂmm~amxa“ \g-‘-—Ol
X ox 0y

(g) Evaluat J
e: ,__A_

(h) What do you mean by objective function of an L.P.P.?
@3 L.P.P-a9 BT AT IS B @I ?

(1) What is Primary Data?
e afiey sz 3w

()) If the Geometric Mean of 3, x and 9 be 6, then find the value of x.
a7 3, x 932 9-97 WG SIC 6 T, 197 W AT B

(k) Two variables x and y are related by v = 5 - 2x. If the standard deviation of x is 3, what
will be the standard deviation of v?
96 b1 x @32 y-a7 FHE 2 y = 5 - x| AW x-97 TOF SAH 3 W O@ -7 ANF
AL F© A7

(I) In a distribution, Mean = 65, Median = 70 and coefficient of skewness is — 0-6. Find
Mode.
b [T T4E = 65, WA = 70 93 2AfSTTR GoE T — 0-6 | FRAeF T Fof
TR

(m) Karl Pearson’s coefficient of correlation between two variables x and y is 0:52, their
covariance is 7-8. If the variance of x is 16, find the standard deviation of y series.
qf6 seraif¥l x @3 y-a9 Karl Pearson-93 W2ARRSR @drz 0-52 @3 O sErewsd 7-8 |
I x93 covE 16 23, y @if4a T onde Rl 3@

(n) The regression coefficients of y on x and x on y are - 0-8 and - 0-45, respectively. Find
the co-efficient of correlation between x and y.
x-a7 BofF y @Ry TR x-67 AN GelE IAFW - 08 G - 0-45, x GG y-97
ﬁ'iﬂﬁﬁ"’ﬂ adrE fadfa )

(0) f{x)= *~9 is not defined at x = 3. For what value of f(3), f(x) will be continuous
at x = 37
$.9
f(x)= TS .r=3ﬁ?cwwﬁtrfﬂ|f(3)-aamammf(x) AW x = 3

x—

faqre Awe A




CH-IV/GE-4(4-1 CH)/(N&O)/23 (6)
2. Answer any four questions from the following questions: 5%4=20
Mo eefera T (A @ @I B dtE Sed e

(a) Solve the following equations by Cramer’s Rule:
X+22=7,3x+y=52y-3z=~
Cramer-93 s ar@l Mva wMaefFa smwaw 3@
X+2:=7,3%x+y=52y-3z2=-5

) 2x+1
(b) Find the value of x for which the following function is maximum: f (x)= —‘8——-;—
x“-8x-2
2x+1
03 WA Ff I T G Mo WA 57 T oAeq AR [ (x) = ‘8 =
x”-8x-2
(¢) Solve the following L.P.P. by graphical method:
cifoe wm fsfERe LPPS wwaw wm:
Minimize Z = 20x + 10y
Subject to x + 2y < 40
4x + 3y 2 60
3x+y230
and X,y 20,
(d) Calculate Kurtosis of the following distribution:
Class: 0-10 10-20 20-30 30-40 40-50
Frequency: 1 2 4 2 1
What is the nature of Kurtosis of the distribution? 441
ceffe: 0-10 10-20 20-30 30-40 40-50
“AfzR: 1 2 4 2 1

freremitn Sire & agfeas

(e) You are given the following data:

X b4
Arithmetic Mean 36 85
Standard Deviation 11 8

If the correlation coefficient between X and Y be 0-66, then find the WO regression equations.
(OIS ABA ©U FET BE:

X X
@fors a1 36 85
TAE AN 11 8

M X € Y-93 WK AeARRE wom 066 =, o e wRewadt % Rty 2|
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(f) Fit a straight line trend equation by the method of least squares from the following data
and estimate the trend value for the year 2024:
Year: 2016 2017 2018 2019 2020 2021 2022
Value: 142 164 158 176 168 189 204
57 T2 (7R <ehrEn TSRS AEfere ARG 2R AR T T £33 2024
RAEE 2IACE T SR
=R 2016 2017 2018 2019 2020 2021 2022
RICE 142 164 138 176 168 189 204

3. Answer any two questions from the following questions: 10x2=20
Az eeelie Ty (T @ @ 90 AT TEE ME

a-b-c 2a 24 - |
(a) (i) Show that | 26 b-c-a  2b '1=[a-b—c):
| 2c 2c c-a-b
a-b-c 2a 2a |
e @| 26 b-c-a 26 |=(a=b+c)
2¢ 2c c—a—-—b:

(ii) Solve the following equations by Matrix Inversion method:

3x+2y+2z=0,-2x-5v+2z=8andx-y-z=-4 5+5
Matrix Inversion #&f€ 241 753 Fa@FaIe™® AW T
Ix+2y+2=0,-2x -5y +2:=8 @R x-y-z=-4|
loe x dv_2-logx
(b) (i) If y=—p". then show that ;= 3
Vx 2x2
dv 2-logx
= _\'=l°gx R, TR (RIe @ " =y
J; 2x2
(ii) Evaluate: Ilogx dx.
s fade == Ilogxdxl
5x+2
(iti) Evaluate: | ————dx. 34344
x~-5x+6

Sx+2
O f@de =@ I-——-—231+“ dx |
x“-5x+6
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(¢) (i) Find the coefficient of variation of the marks of Business Mathematics and Statistics
obtained by the students of a college from the following data:

fasfafie eey (e @3l FtETEa wamm s sifts ¢ Afaneaere 219 9@ oz

Ay s
Marks: Total
e 5 = i 0-7(
() 20-30 30-40 40-50 50-60 60-70 s
No. of Students:
2 6 100
(R 12 8 38 16 J

(i1) Find the Spearman’s rank correlation coefficient for the following data of marks
obtained by 10 students in Mathematics and Statistics: 545
10 &9 Reaw offe «a AR 2ie TEae fEfERe ®9) (9@ Spearman-97
Afeasrz Afiada edam fada s

Marks in Mathematics: . ) 19 !

Marks in Statistics:

=t — 84 | 51|91 |60 |68 |62 86 58|53

|
|
47 |

(d) (i) From the following data calculate Fisher's Ideal Price Index Number
(Base year 2010):

Awa © (AF Fisher-a3 @+ Wi 753 weay fefa = (Fefe Tz 2010)-

2010 2020
Commodity Price Quantity Price Quantity
) i LI i AfarTre
A 24 25 42 28
B 46 16 68 22
C 18 12 25 12
D 64 18 96 24

(i) Find the trend for the following series using a three-year weighted moving average
with weights 2, 3, 2: 5+5

2, 3, 2-= o foia A 37w orge sfoRs SR AR fTsfEe Fifam s

faefa ==

Year:; 2015 2016 2017 2018 2019 2020 2021
%4

Value: 3 5 6 8 9 11 14

e



